SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

16. The sum of three numbers in Arithmetic
Progression is 24 and their Product is 440. Find
the numbers.

17. Examine whether the following equations are
consistent and if so, solve :

X, +2X,+3X, =14,
3X, +X,-X;=2,
8X, +6X, +4X, =32.

18. Discuss the characteristics and limitations of
statistics.

19. Find the mean, median and mode :
Interval : 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100

Frequency: 4 14 20 51 32 17 6 4

20. Calculate Karl-Pearson’s coefficient of skewness
for the following data :

Xy 312 157 20025 30, 4050
Fioo 102604070 .82 13,10
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SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
All questions carry equal marks.

1. ' Find the indicated terms in each of the sequence

whose nth terms are given by a,(~1)"2"*?(n +3);
o a ' |

2. The first term of an A.P. is 6 and the common
difference is 5. Find the A.P and its general term.

3 A matrix consists of 30 elements. What are the
possible orders it can have?

I i

4 IfA=|2 4 -5| thenverify that (47) = A.
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11.

12,

What are four main functions of statistics?

Define statistics as given by C.H. Meyers.

Calculate the arithmetic mean 93, 35, 75, 87, 90.

Define geometric mean.

Find the range 78, 35, 56, 72, 21, 85, 12, 19,
99, 2% ;

(a)

(b)
(a)

(b)

- How can we known about skewness?

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.
All questions carry equal marks.

The 10t and 18t terms of an A.P. are 41 and
73 respectively. Find the 27th terms.

Or :
Find the sum of the first 75 positive integers.

Find the values of x,y and zfrom the
matrix equation ;

li5x+2,’y—4:|_[12' —8}
O dale g g

Or
1 -1
If Al then show that
28
A?-4A+51=0.
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13.

14.

15.

(&) What are the limitation of statistics?

Or
(b) What are the advantages of diagrammatic
representation of data?

(a) Find the arithmetic mean and mode.
CI. 0-10 10-20 20-30 30-40 40-50

AN | 24 38 20 4

Or

(b) Calculate the AM., G.M., and H-M. of the
data :

.19, 23, 24,27, 32, 33, 41, 0..

(a) Calculate the mean deviation from the

: " median : .
CIL: 16-20 21-25 26-30 31-35 36-40 41-45
F: 8 RO G BT 11 o)
CI: 46-50 51-55 56-60 '
{ & 2 1

Or
(b) Calculate the standard deviation :
Marks : 3005070 9071107 130150

No.of students: "5 7 . 22 60 85 382 .8
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